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Guess Paper – 2010

Class – X

Subject – Maths
2 MARKS EACH
1) In a triangle ABC D is a point on AB and E is a point on AC such that DE║ BC and 3AD=2DB. Calculate the ratio between the area of trapezium DECB and area of triangle ABC.   






(21:25)

2) If sin θ + cos θ = √2 sin (90º- θ). Find cot θ.                                (√2+1) 

3 MARKS EACH

3) On one of the longer side PQ of a rectangle PQRS, a point T is taken such that ST2=PT.PQ. Prove that ∆PTS ~ ∆TSR.

4) Prove that the intercept of a tangent between two parallel tangents to a circle subtends a right angle at the centre.

5) Solve using quadratic formula, for x,10ax2-(6-15a)x-9=0.       (x=3/5a, -3/2)                                                                                                          

6) There are some flowers in a garden. If one butterfly sits on each flower one butterfly is left behind. If two butterflies sit on each flower one flower is left behind. Find the number of flowers and butterflies.                          (3,4)

                                                            OR

    The TSA of a hollow metallic cylinder open at both ends of external radius 8cm and height 10cm is 338Пsq. cm. Find the thickness of the metal in the cylinder.                                                                        (3 cm)   

      6 MARKS EACH

7) A shopkeeper bought a number of articles for Rs.1200. Ten of were damaged and he sold each of the rest at Rs. 2 more than what he paid for it, thus getting a profit of Rs. 60 on the whole transaction. Find the number of articles he bought.                                                 (100)

8)If -4 is a root of the quadratic equation x2+px-4=0 and the quadratic equation    x2+px+k=0 has equal roots. Find the values of p and k.                    (3,9/4)

9)A semi circular thin sheet of paper of diameter 28cm is bent and an open conical cup is made. Find the capacity of the cup.                         (622.37 cm3) 

10)A sector of a circle of radius 6 cm has an angle of 120º. It is rolled up so that the two bounding radii are joined together to form a cone. Find the radius of the cone, its T.S.A and volume.                                (2,16 П cm2, 16√2 П/3 cm3 )                  

11)The median of the following distribution is 50. But the frequencies f1 and f2 are missing. Find the missing frequencies.                         (27,35)

	CLASS
	FREQUENCY

	0-20
	17

	20-40
	F1

	40-60
	32

	60-80
	F2

	80-100
	19

	Total
	120


12)A solid cone of height 12cm and base radius 6cm has its top 4cm is removed. Find the T.S.A of the remaining solid.                            (350.7cm2)  
13)The angle of elevation of SARAS AIRCRAFT of INDIAN AIR FORCE from a point P at Udaipur is 60º. After 15 seconds flight the angle of elevation changes to 30º. If the aircraft is flying at a speed of 720 Km/h. Find the height at which the aircraft is flying.                                                 (2598 m)

14)An inverted conical vessel of radius 6cm and height 8cm is completely filled with water. A sphere is lowered into the water and its size is such that when it touches the sides, it is just immersed. What fraction of water overflows?    (3/8) 
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